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 : (1)          
  (2)        
  (3)        
 

1. (a)               6 

 (b)     
dy
dx    : ( ) 8 

  (1) y = 
x3 – 5x2 + 7x

x  

  (2) y = 5 log x – x + 17 

  (3) y = (3x + 5) (x2 – 1) 

  (4) y = x7  5x  

  (5) y = 
2x – 3
5x + 4 

  (6) y = log (x4  ex) 

     

 (a)      ,        : ( ) 6 

  (1) y = (x2 – 7x + 11)8 

  (2) y = x3 – x2 – x – 1  

  (3) y = 5x2 + 3x + 1 

  (4) y = e5 – x + x2
 

 (b)  y = x3  log 



1

x  ,     x  
dy
dx + x3 – 3y = 0  8 
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2. (a)     6 

  (1)   

  (2)     

  (3)    

 (b) f(x) = x3 + 3x2 – 45x + 100         8 

            

 (a)     6 

  (1)   

  (2)   

  (3)          

 (b) (1)  y = e3x + e–3x ,     d
2y

dx2 = 9y  8 

  (2)   p = 80 – 3 x    x = 400 ,         

 

3. (a)        6 

 (b)    ,         8 

 

2018 2020 

  

(`) 

 

() 

      

(`) 

 

() 

A 5 6 6 8 

B 3 8 2 10 

C 2 12 4 10 

D 8 2 7 2 

E 9 5 9 6 

 

 (a)        ?           6 
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 (b) (1)              8 

 2011 2012 2013 2014 2015 2016 

   100 120 125 140 175 200 

  (2)         

 
    

   

P 50 12 15 

Q 7 25 35 

R 15 80 90 

S 20 65 90 

T 3 120 150 

 

4. (a)       ?      6 

 (b)                8 

 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 

 75 60 55 59 85 60 67 80 90 96 

 

 (a)         ?      6 

 (b)          8 

 .-. - - - - .-. 

2018 52 60 65 70 80 88 

2019 58 64 70 78 84 90 

2020 60 65 74 80 89 94 

2021 40 48 52 56 60 65 

2022 45 50 56 60 64 70 
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5.    ( ) 14 

 (1)  y = aa + ea + ae + ee ,  
dy
dx    

 (2)  y = log x ,  d
2y

dx2    

 (3)    C = 2x3 + x2 + 11x + 150         

     

 (4)  x + y = 2x – y ,  
dy
dx   

 (5)              

 (6)                     

   ? 

 (7) -  -      

 (8)   -     165  145      

    

 (9)            ? 

  (i)          

  (ii)       

 (10)           85, 110  125      

     

 (11)          ? 

 (12)   ,               

___________ 


